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SSC Practice Set-9

A can do a piece of work in 10 days, B can do it in
12 days and C can do it in 15 days . In how days
will A,B and C finish it, working all together?

A &€t ™ &t 10 7 ¥ oar 8, B 36 & &t 12 =
H YA § 3% C 36t & @i 15 & # & 81 A, B 3R
C @i fuetdt 38 &m @t fhaq e & g &3r?

(a) 6days  (b) 5% days (c)4%/11days (d)4 days

If the volumes of two right circular cones are in
the ratio 1 : 4 and their diameters of bases in the
ratio 4 : 5, then their heights will be in the ratio:
Ife & o T VGl % MFAA 1:4 & UM | agl
3% MU & 19 4: 5 & UM | &1, A ! Sagat
A T U gm?

(a)1:5 (b)4:25 (¢)16:25 (d)25:64

List price of TV is Rs. 2300 and discount series
found to be 25% and 10%. Then the selling price
of TV is

foret €13, @t Teit F19a & 2300 § 3R 37 W T 25%
3R 10% &t qt fawa Jea saEu?

(a) Rs 1255.5 (b) Rs. 1525.5

(c) Rs. 1552.5 (d) Rs: 1555.2

Ram is 20 years younger than Shyam. 5 years

ago, the ratio of their age was 3 : 5. The sum of
their present age is

T v & 20 o6 BieT 81 5 a6 gd 3! Mg § 3: 5 &7
U TAAE A HT T SATSL2

(a) 75 years (b) 80 years

(c) 90 years (d) 95 years

If the loss of percent on article is 15%. Then the
ratio of the cost price and sell price will be

Ifg et g W 15% &1 g & @ 30k wa Ted AR
ferehar Yo T 3TIUTA SAT3T?

(a)17:20. (b)20:17 (c)23:15 (d)15:23

If A's salary is 40% less than that of B, then how
much percent is B's salary more than that of A?
e ART AGT B & 90 € 40%FT & @ BRI Aa7 A &
3ad ® foran wfavra aifere &2

1 2 2 1
33= b) 66 = 33— d)66=
(a) 3 (b) 3 (c) 3 (d) 3

Gautam goes to office at a speed of 12 kmph and
returns home at 10 kmph. His average speed is

10.

11.

12.

13.

Taw 12 T, 921 & a1 @ FET 6T g 3 10
&t /92T & oo ¥ 9UY AT 81 3H&! iHd ue
FaT3u?

(a) 11 (b) 22

1 1

If x = 3E - 3_§ value of 3x3 + 9x is:
1 1

g x =33 -3 3 &, @3> + 9x F WA FA EAW?
(a) 8 () 9 (c) 27 (d) 16
If xy(x + y) = m,then the value of x3 +y3 + 3mis:
T xy(x +y) = m B, @ 23 + 93 + 3m & AR FABW?
(a) m3x / y (b)m?’(x+y)3
(c)m3/x3y3 (d)mx3y3
Which of the following is a true statment?
frfeiaa ® & I a1 H99 T& 87
(a) Two similar triangle are always congruent.

3 g s Ter gatTem g 2
(b) Two similar triangles have equal areas

T THE IS 1 &hel T e el ©

(¢) Two triangles are similar if their corresponding
sides are proportional

gﬁ&ﬁﬁwﬁwﬁ%@maaé@w

(d) Two polygone are similar if their corresponding
sides are proportional

A < TS F qeqEd YSIG AAGE B A F TH
T B

In a triangle ABC, OB and OC are the bsectors
of angles /B and ~C respectively. “BA = 60°.
Then the angle /BOC will be

ABC 9s ¥ OB 3R OC %991 &I /B 3R &ivT /C

(c) 10:9 (d) 12.5

F fgu® 81 /BA=60° & @ /BOC & WA &0
arm?
(a) 150° (b) 120° (¢)100°  (d) 90°

sinf+ sind cosf- cost is

The value of(

cosf+ cosd sinB- sind |

cosO- cos o)

( sinB + sind

T U9 FaTE ?
cosbB+ cos o

sinfB - sind |
(a)1 (b) 2 (c) 172 (do

The least number that must be usbstracted
from 63520 to make the result a perfect square is
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SSC Practice Set-9

14.

qg gAqd W @ Al 63520 § @ gern W at
URUTH W&y quf avt &9 S, F4 eni

(a) 30 (b) 24 (c) 14 (d) 16

Three years ago, the average age of a family of 5
members was 17 years. A baby having been
born, the average age of the family is the same
today. The present age of the baby is

3 gd Uget 5 WSl AT U URER @t 3ied g 17 ad
ot | U 1Y) T ST &1 ST & UTd ST 3ited ST a@t
2 | Torg) &t adwe o1y saTgE?

(a) 2 years (b) 2.4 years (c)3 years (d) 1.5 years
15. 1¢ P+ =1 , then the value of
p+2
(p+23+ LI T
(p+2)3
afkp+ - =1ﬁ,a‘r(p+2)3+—-1—3—3aﬂm=r
p+2 (p+2)
ERIELE
(a) 12 (b) 16 (c) 18 (d) 15
16. 1¢ 3a+4b _3a-4b then
3c+4d 3c-4d
3a+ 4b o 3a - 4b
3c+4d 3c-4d
(a)ab=cd (b) ad = be
(c)ac = bd da=b=c=zd
17. If the difference between the measures of the

18.

19.

20.

two smaller angles of a right angled triangle is
8° , then the smallest angle is

g foret Twanin Brgs & <1 812 &Ivh & g & oia 8°
T I B A T BT FKIA A ERM?

(a) 37° (b) 41° (c) 42° (d)49°

Let O be the orthocentre of the triangle ABC. If
ZBOC = 150"then /BACis

T fafe e ABC @1 @@é= 0 #1 3y @i
BOC = 150° & @ @I BAC 1 §IT?

(a) 30° (b) 60° (¢) 90° (d) 120°

If Cot6 = 4, then the value of M
5sinf - 3 cosb

A Coto = 4 @ ar 250+ 3080 2 oy e 2
5sinf - 3 cosb

1 1
(a) 9 (b) 3 ()3 (d)9
In simple interest rate per annum, a certain sum
amounts to Rs. 5182 in two years and 5832 in
three years. The principal in rupees is

&g g YT AR A & affes ST W 2 94 & &
5,182 B St & 3 3 9 A & 5,832 & Wt 21 ® X

T qA3?
(a) Rs 2882 (b) Rs. 5000
(c) Rs. 3882 (d) Rs. 4000

21.

22.

23.

24.

25.

A helicopter, at an altitude of 1500 m, finds that
two ships are sailing towards it, in the same
direction. The angles of depression of the ships
as observed from the helicopter are 60° and 30°
respectively. Distance between the two ships, in
metres is

1500 HieT HTE UX TSk Tl d@al & foh & uia
IUT AN I G & =t o 1@ §1 REABET § 3@ A
U Uil & 3TETHT % HI0T HAI: 60° AW 30° fT@Td 2\
®1 S Urat &t i @t g A SiT

(2) 100043  (b)1000/+/3 (c) 50043 (d) 40043

The graph shows the monthly expenditure of a
company (unit-10 lakhs). Study the graph and
answer the questions.

% | fordl ST & A o3 i 9T 14T 81 %
T I it SR TAferEa w9+ & 3T difsa?

90
801
70
60
)
50| |2
w |8 .
g 2 § 2
| 8] ¢ & 5
GE 8§ 3
o = = @
20 % H % S
i3
Wl
Type of Expenditure
The percentage of money spent on
miscellaneous is
fafag 78 WX R wfav Ui @« g87?
@72 72 ©112 @9l
27 7 3 11
The fraction of money spent on refreshments is
U YT YT T foheeT WRT @ gam?
@131 w2 ©L (@10
2 27 10

The total monthly expenditure of company is
FW HT F WS = femaar 82

(a) 153 lakhs (b) 315 lakhs

(c) 135 lakhs (d) 531 lakhs

The ratio between transport and employee
salary on monthly basis is

e MER U Ufagd AT HHural & aa9 & st
U fehaT 22
(a) 1: 4 (b)4:3

(c)3:4 d4:1

WWW.Guptaclasses.com All the Best by : Alok Gupta Sir & Ritu Gupta Mam



SSC Practice Set-9

— ANSWER KEY
1. (d) 2. (d) 3. (¢) 4. (c) 5. (b) 6. (b) 7. (c) 8. (a) 9.(c) 10.(c)
11. (b) 12.(d) 13.(d) 14.(@) 15.(d)  16.(b)  17.(b)  18.(a)  19.(*)  20. (c)
21. (a) 22.(c) 23.(b)  24.(c) 25. (a)
HINT & SOLUTIONS
1. A B C Ta&E
Y 10 12 15 60 A 5 A gd
wE &Hal 6 5 4 TH A Y = 3x T
(A+B+C) gr fern T H 3T = 5o T
L O i A H - (5 99 91%)
AT Rt R aTEal TH &1 3T = 3x + 05
_ 60 _ 4 AW HI A1 = 5x + 05
15 AT.Q. (TH3a™ ¥ 20 a4 BT & )
2. W TR ViF F Mo - V, 3x +05+ 20 = 5x + 05
TR v B =V, 3x + 25= 5x 4 05
A 98 T o el = Iy = fg =20
. o WL
@WE‘E;::Z FAAE H A = 3x + 5+ 51 + 05
o1 = 8x +10
2, =80 +10 = 90 =7
v, 3N hy
=7 =1 o S. 3 — &l
2 =1 20770
?; 15%3-[&_20—3:7%@17710
1 r_zxﬂ férsha Yo(sp) = Ao — I
4 xhy FAHo (cp) : fashaA o (Mp)

=20:17

6. _2

1_(1\2 h 40% _g—>am—>BEméa=r

4 ry | hy A®ideet . B w1 daet
_f (92 h A

4 51 h2 .
—l—ﬁxhl +12 —> 31t
4 25 hy B @1 aad

hy _ 25 AFFFAY = 2% 100%
hy 64 3

% STF = 66 2%
3. 25%1 - &gl 3

7. 1st method:
IR I et i e B | o Fd gl

Sifohd T (mp) o T (sp) = = 12km/h 10km/h 60km
4 3 T = 5h 6h
10 9 e =t :g:,g;r/ww
0 27 ST (% g8 =60 +60
40 unit —2300 i
27 unit — 2380 X 2T® = =109 km/
- 1552.5 & Second method :

2, 5 1 5 i
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st = 2255 XY bm s

x+y
_2x12x10
B x+y
. 120x2 120
22 11
=10.9km/h
8. 1 1
x=83-83
3x3 +9x = ?
11
x=33-33

¥ % W (cubing) ST 3R
1

1
x3=3-3"1_-3x33x3 3
3

|+

=3---3%3"(x)

1
3
=x3 =3—1—3x=§—3x
3 3
=3x8 =§><3—3x x 3
=3x3 =8-9x
=3x349x =8
(@a-0)° =a® -5 -3ab(a-b)
Second method

g
1 1
x=ad+ad
LE ax® - 3ax = Base? -1
11
R x=a3-a 3
ax3 +3ax = (base)2 -1

1
x=83-33=a3+a
3x2 +3x@)xx = (@2-1

33 +9x =8

W

9. xy(x+y)=m
x3+y3+3m:?
xy(x+y)=m
m

x+y=

Now,

x3+y%43m

x3 +y3 +3.xy(x + )

(mFivalueea™ (1) T @A W)

=(x+y)3

(x \J
y

{(x + y)“elﬁvalue eq (i) 9
3
= (L\
xy3y3 I
10. side-side-side-similarily
11.
O — 3 &< (incentre) B
<BOC =90+ “B;‘C

:90+%:90+30

=120°

12. (sin8+ sin® D

cosf— cos®)

cosB+ cosd sinb - sin® |
(sin® + sin®)(sinf — sin®d) + (cosB — cosD)(cosB + cosD)
(cosO + cosD)(sinh — sind)
o (sin @ sin® @) + (cos 6 — cos? D)
- (cosB + cos®)(sinh — sinD)
o (sin? 6 — sin? @) + (cos 6 — cos? D)
- (cosB + cosD)(sinh — sinD)
(sin? 0 + cos?0) - (sin? @+ cos? D)
(cosB + cosD)(sinb — sind)
=1-1=0

13. 63520 — W& = YU &

252

2163520
+2 |4

45 (235
+5 [225

502 {1020
1004

16 — Extra

Ifs T W 16 ¥ < 1 F8 YOI o o S|

14. 3 o uget 5 HEE i 3T Y

=17 99

3 99 Ugcl 5 WSH &l FA Y
=17x5=85 a4

SN (IHE H) 5 §eEl &l §e g
=85a% +3x5
=100 =¥

A B 6 FeE it 3fiHd 31y
=17 o9

6 TCHl A T MY =17 x6 = 102 T
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3a-4b 3c-4d
imponendo -Dividendo Rule-

3a _ 3¢
4b  4d
a _c¢
b d
ad = bc

SSC Practice Set-9 5
IRNETE R = 16 9SS &l 371G~ 5 USH | 17.
I i
=102-100 !
=299 !
| . c
15. First method |
i B S -
p+p+2=1 ! THHIT A B TH HI0T = 90°
0 Jadls i <A+<C=90° ..()
pro+ =1 TR <A-<C =8 (D)
1 i 90° +8° 82 .
(p+2+ =3 i <A=" " ="=-41
P (p+2 i 2 2
EFl 3R T W i Bl A0 = 41
3 1 |
(p+23+ +3(p+2)(—1— ((p+2) 1 1 18.
(p+2)3 p+2i (p+2 1 !
- 27 !
3 1 i
(p+2° + + 33 = 27 !
(p+2? !
(p+23+ 1 - =27-9 i
+2 |
(p ) : O—)Wa%s:
5 1 =18 i B A ©
(p+2 +( 2)3—3=18—3 ; 20'00" = Z/BOC = 150° iuifyg@ o
P | =99 01A0"0 F—
=15 Z00' A = Z00"A = 90°
Second method: ! JA+ 20 00" = 180°
p+ +2=1 : ZA+150° =180°
p : ZA =30°
(p+2+ = | —
(p+2) i 19. cotb=4
(p+2%+—1 _ =(3? 43x3 i o 58inb & 3 cost
o (p+23 ! 5sinb — 3cosb
i . [ cos9—|
=27-9 ! sinB| 5+ 3—
_18 i N sinB
B i . cos9
(p+2°+ 1  _3-1.8-3-15 ! sm@[5—3sme]
(p+2? !
1 ! :5+3c0t9
x+—=q i 5-3coth
! _5+3x4 _5+12
x3+==2a%-3a i 5-3x4 5-12
- i _lr_ -1
16. ;3a+4b _3a-4b i -7 1
3c+4d 3c-4d 520
3a+4b _3c+4d p &0 2 o 3t 3 dt
: 5182 5832

1 o9 ST |1 S = 650
2T F LSS = 2% 650
=1300
A = 5182 - 1300
= 3882
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21. Ist method:

A @cflorexr)
E
1500 #fto
60° 30°
B D C
M A point T Belt S B
T8l Uid C W
TE UG D W
DC =?
AABD ¥
A
60°
B D
tan60 = ﬁ
BD
_ 1500
BD
1500
BD = 2~
V3
AABC ¥
tan30 = ﬁ
BC
TaskAaH g = DC
DC = BC - BD
1 3
= 1500(J§—
3
~1500x 2
V3
2 3
=1500 x — x —
NCRRNE]
=500 x 2%+/3
=1000+/3 Hes
Second Method :
A
60° 30°
B D C
DC = BC - BD

(1)

A

30°
1500

B D
3D AB

30° 60°

l l

1500 1500
=
A

1500(30°
604
B D
AB BC

30° 60°

1500 15003
1500

=1500+/3 - 5

_ 3000 _ 3000 x /3
J3 3
=1000+/3

Employee salary W &4 = 80lakh
Refreshment W& = 10 lakh
Transport ®&E = 20 lakh
Electricity @4 = 10 lakh
Miscellaneous W& = 15 lakh

Total @@= = 135 lakh

22. fafag (miscellaneous) W @<

415 % 100%
135

:l><1002 111%
9 9

23. Refreshment T @9

J 10172
135 27

24. & Wifds @ = 135 lakh
25. uft@es (Transport) e (Salary)

20lakh : 80lakh
1 : 4
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